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. General Instructions:
i1, All questions are compulsory. .

2 The question paper consists of 31 questions divided into four sections A, B, Cand D.
Section-A comprises of 4 questions of 1 Mark each; Section-B comprises of § quesons
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.
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Question numbers 1 to 4 carry one mark each.
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Find the value of )
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T W A 84 cm? 3K T Y 12cm ¥ |
The area of a rhombus is 84 cm? and one diage
- thombus. Yo
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Question numbers 5 to 10 carry two marks each.
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6 T2 — 16x + 28F B T A S G GIQ HI U YA 1§ 92 2 2
What should be subtracted from the polynomial x2 — 16x + 28,90that1isaz§mofﬁt_:
polynomial ? . _ S
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In the figure, ZAOB : ZBOC=2 : 3. B £AOC=75" then find the measures of ZAOB and

@ 349 PQR ¥, QO 3R RO H9¥: LPQR @1 /PRQ ¥ WHigWS® T4 YK & f% 4PQR=£PRQ 2
3R £PQO=£PRO ¥ TWiEgW f LRQO=,QRO?|

—-— ‘Inatrianglemmam;ROa—mﬂ\éﬁsectorsoféPQRmdJPRQ,sndx&ntM=£PRQ
and Z/PQO=/PRO. Show that ZRQO=/QRO.

9 T wgis Eitae e 99 (3,2, 2.3), (-4, 5) 3 G, -3) & ‘ 2

1 Draw a quadrilateral whose vertices are (3, 2), (2,3) (~4, 5) and (5, —3). -

10 wm%wmmﬂmm@gmmgmﬁﬁﬁmﬂmmmﬁ 2
o fome WRe 100 am 1

Find the area of an isosceles triangle whose one side is 10 cm greater than each of its equal
sides and its perimeter is 100 cm.
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Question numbers 11 to 20 carry three marks each.
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Locate 13 on the number line.

B ARa+b=103Ra?+2=58% A3+ 2T AH T EE

| | fa+b=10and a2+ b= S8, find the value of 2% + b3,
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. '. me o mﬁe quotient and m, when 2&4‘+x3+3:-|2+u—m'ls divided by )
! x2—=2x—1 '
15 o wE A e e o g
: Write any Three Euclid's Postulate.
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In the the figure, if ZPQR = éPRQ, then prove that /PQS= /PRT.

T
17 foi ¥ AB|CDR a1 ffF @11, AB SR CO R F90: A SRC R IR L |0 A ke S 3
Fafgure TR PR e €1 fag Sifaw i 2APC=90° %)

Y
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i ku_tp.ﬁgme,ABHCDanda&memalICutsABdeDatAandespedivdy. Bisectors of
£A and ZC mtersect each other at P. Provethat ZAPC =90°.

18 ¥ IR ABJCDJEF &, & (y—x) - (y+ ) T0 FifwT : | 3
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In the given figure, if AB||CDJ[EF, find the value of (y—x) : (y+) : - i
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Plot a point A(2, — 5) on the cartesian plane.' Now, change the sign of its ordinate and call it B. -
Plot B. Now, plot reflections of A and B in y-axis.

20§ § Pl §, AABC TF §HAE Y &, f9s 491 10 om § 991 ADBC %1 D HEw &1 3R 3
BD = 8 cm g, T SHitHa Y ¥ S5%a 79 =1Q1

(VB3 = 1.73 % wam wifa )

A
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In the given figure, AABC is an equilateral triangle with side 10 cm and ADBC is right angled

Page 6 of 10




guz-T [&mu-o '

¥ Hem 21 431 %yl & 4 30 7
* Question numbers 21 to 31 carry four marks each.
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Prove that e e i
. : al4p71 - a 1pt
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&emwdhmvﬁhose -
i) difference is a rational number.

(i)  sum is a rational number.
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Justify also.

fas ifore
@+’ +E+22+@+2P -3 +y)y+2)E+)=AC s P+ -
Pm!feﬂm(ty: 2 +@+2P -3+t e+ P=2A +y + 2 ~3)

(x4 YR+ + 2P+ (e 2P =B + gy + 2)(z+ ) = 263 + P+ =3y

TREST W F TR wR R i W
m(n®~ p?) + n(p?— m?) + p(m’ —nﬁtmf - -
Usmg factor theorem, show that (m-n) (a—p) ﬂ‘ =

m(n®- pz)+n(p2 —m?) + p(m’—n?).

A x-3Mx— L = qu%&ﬂtg-ndzii -
Ifx—Sand:-% are factors of the polynomial px*+ 3z

ara § v = Wi R A, (— 13 +(— 2P+ (— P+ (— P - 2P = = e e = 4
TAGEH A WA g0 €, 9% ot fafan)

Without actually calculating the cubes, find the value of (—1)>+(—2)%+(—3)>+(— 4)3+z(5)3
Also write the identity used.

T% FEIFR T PQR &, f5% P, Q AR 39 #5%: 2: 4: 3 ¥ Iqum & ¥ A weferdl v, S 4
3R T wfafes gae | fog =6 £ 3k 7w 9 yosi PQ, QRAPR W wadl €1 T dMHi &
T Sfiwan gt 53 =90 §7 =99 =98 39 godl €27 e fo g @1 = a1

There is a triangular park POR whose angles P,Q and R are in ratio 2 : 4 : 3 respectively. Three
friends Rashmi, Sita and Geeta go daily on morning walk and walk along these three side PQ,
QR and PR respectively. Who walks maximum distance among these three ? Who walks
least? Why moming walk is necessary for us?

T 91 ¥ ¥ 9 TF B9 81 3 39 9K s fRoum we o | S T ¥R @ g S 4
Sunil and S‘hyam have the same w . m - .

5 kg, how will their new weights be compared using the axioms ? Write the Euclid's axiom that best
supports your answer. Also give two more axioms other than the axiom used in the above situation.
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: mgivmﬁglueABIICD,CD[lEFandEA_LAB.IfABEF=45°ﬁndthevaluesofx,yandz.

T 4 4
A...J c z E
45
D
vy
- < F -
e
30 ﬁﬂﬁﬁgﬁ%ﬁwzms%aﬁqﬁﬁiuwﬁrﬁammWaﬁwmaﬁm: 4

The angles of a triangle are in the ratio 2: 4 : 3. Find the largest angle of the triangle.
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The angles of a triangle are (x—40)°, (x—20)° and (—;— —10)0. Find the value of x and then the
angles of the triangle.
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